Fill in the boxes using the numbers at the sides. This
is a logic puzzle, you will never need to guess which

boxes to fill!

In this example, we know that
the 10 squares in the center
column are filled from top to
bottom.

This also means we know the
position of the ‘1’ in this row.
We also therefore know that
every other box in this row will
be empty (tip, try crossing
through boxes you know are
empty.

We also now know where the
two ‘7’ columns need to be
filled (there is no alternative
position where 7 boxes can be
filled in this column) =),
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And we can strike through the
boxes we know will not be used
in this column.

Tip: we can partially complete
sections too. For example, in
this row we know we need to fill
8 boxes, however, we don’t
know which - it could start at
the right, left or the center 8
could be filled. But, we DO
KNOW that those center boxes
will be filled regardless, so we
can go ahead and fill in these
while working through the rest
of the clues.



